MATH 2 EXAM #3 NAME: /@

i U

1. Solve cach of the following equations:
a. 3P =27 . b. log,(x)—log,(x—-2)=3

2. Half life of a radioactive material is 2400 years. How long does it take for % of the radioactive

material to decay? @

3. Find the exact values of all six trigonometric functions of 30° and 60° using a right triangle. (You
should know these values by heart, but, this question is: “how are those values found?” So, show

your proof for these values.)

4. Find two positive and two negative coterminal angles for 977{ . @

5. The terminal side of an angle in the second quadrant is parallel to the line y = —g—x +2. Find the

exact values of all trigonometric functions of this angle. @

6. Find the exact value of each of the followings: (Show your work step by step. Just the final answer
is not sufficient. Your work needs to support your answer)

a. cos(120°) & ) b. sin[%} @
tan(%r] @ d. csc[lfj @
i

7. Ttis given that sin(15°)= == Use this information to find sin (345°). (Show your work as

in number 6)

8. Sketch the graph of each of the following functions. Show at least two cycles (periods).

a. y:3sin(—:rx+£] b. y=_2cos[2x__’.‘.J
3 ® ;

9. Solve for & in general (all solutions) and then hand pick answers in [-27, ).
L 1
sin(26)= 2 @

' 4 w4
10. (EXTRA CREDIT) Solve fory: x= ¢ +e
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